Study the example showing how to use substitution to
solve a system of equations. Then solve problems 1-6.

Example

Solve the system of equations.
y=x—3 y+2x=3
Notice that the first equation tells
you that y = x — 3, so substitute

x — 3 for y in the second equation
and solve for x.

y +2x=3
(x—3)+2x=3
3x—3=3
3x=6

x=2

Now that you know the value

of x, you can find the value of y. .

Substitute 2 for x in either
equation and solve fory.

y=x—3
y#2—3
y=-

The solution is (2, —1).

Substitute the value of x in the example into the second

equation, y + 2x = 3. What value do you get for y? Is it
the same solution as in the example problem?

graph of the system looks like.

The solution in the example is (2, —1), Explain what the

Look at the system of equations below. Describe

how you can use substitution to find the solution. Then

find the solution.

y—3=4 y=x—4
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- Solve.

y+x=3
y=15x+1

Show your work.

Solution:

EF Use substitution to solve the system of equations.

The system of equations at the right Xx=—-y—2
shows x by itself on the left side of 0.5x +y=1
one equation. Solve the system by
substituting for x instead of for y.
- Show your work.
Solution:
€3 Fina wants to use substitution to 2x—y=3
solve the system of equations at the —1.5x + 3y = —18

right. Explain what she needs to do
first before using substitution. Then
solve the system of equations.
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Group work : Together with your group complete the two examples

y s T Fmd the slope by choosmg two pomts from the” '
RN ST “-‘table Sl L e

. Th’.e""vb"‘dr‘y—interéép: L =

= :rr',The equatlon of the llne dlsplayed |n the table
abDVEIS y=__

— T 'i"'f F'nd the Slope by choosmg two pomtsfrom the,

The ”b" or y-mtercept IS

e The equa’nonofthe lme dlsplayed in the table
above 15 =5 = il i

N =

ON YOUR OWN

Can you wnte an equanon glven thIS set of pomts?f:’

‘The “b” or y-intercept is _

Fmd the ’éiq,pél:,

 The equation of the line displayed in the table aboveis =~~~







